|2 R& L
5%
% #l A _H » #

M 10-0-2=0 © O4+16=8=13 ®@ 17436=[1=23 @ 65— X9=11

® 12+7Xx =47 © O-81+9=14 @ 16-10+13=17 ® 6—21+[11=3

O 3X[—=22=56 0 2X[+15=23 an12—[+2=4 a2 [JX3—-1=5

(1) 5X4—011=15 v 9OX8+[1=79 9 56+[IX4=41 o []-5bX2=2

an +7-5=2 (148 b0—8X =2 a» J+7X8=71 @0 [X4+16=40

e 18+ [H+9=20 @@ 48+-8—-0H=1 @@ 32+-8+[1=9 ©» [J+-5+3=7



[z Rd L (BRE)

5%
wE Z A = S )
M 10+-0—-2=0 @ O+16+8=13 ®@ 17436+-11=23 @ 65— X%X9=
10+-0=0+2=2 [14+2=13 36+-[1=23—17=6 [IX9=65—11=5H4
[1=10+2 [1=13-2 [1=36+6 [(1=54+9
[1=5 L]=11 [1=6 [1=6
® 12+7X[1=47 © [J—-81+-9=14 O 16—+ D+ 17 ® 6— 21 [1=3
TX[1=47—12=35 [(1-9=14 16-0= 13=4 1+-00=6—-3=3
[1=36+7 [(1=14+9 [(1=16+4 [(1=21+3
[1=5 [1=23 [1=4 []=
@ 3X[]—=22=5 o 2X[J+15=23 an12—[01+2=4 a2 [1Xx3—1=5
IX[=5+422=27 2X[1=23—-15=8 [(1+2=12—4=8 [IX3=5+1=6
[(1=27+3 [1=8+2 [1]=8X2 [(1=6+3
[1=9 [1=4 [1=16 [(1=2
(1 5bX4—[]=15 v 9x8+[1=79 a4 bh+[1X4=41 qe& []—5Hx2=2
20—1=15 724+10=79 [(I1X4=41—-5=36 (1—-10=2
[(1=20—-15 1=79-"72 [(1=36+4 (1=24+10
[1=5 [1=7 [1=9 [1=12
an [J+=7—-56=2 (18 b0—8X [J=2 o J4+7X8=71 @0 JX44+16=40
(1+7=24+5=7 8X[1=50—2=48 C14+56=171 (IX4=40—-16=24
(1=7X%x7 [1=48+8 (1=71—-56 [(1=24+4
[ 1=49 [1=6 [1=15 [(1=6
e 18+ [1+9=20 @ 48+8— :1 ) 32+-8+[1]=9 @ [J+5+3=7
0+9=20—18=2 6—= 4+00=9 0+5=7-3=4
0=2X9 O= 0=9—4 0=4x5
[1=18 [1=5 [1=5 [1=20



